
Riese & Müller GmbH | Am alten Graben 2 | D-64367 Mühltal | Tel.: 06151-366 86-0 | Fax: 06151-366 86-20 | E-Mail: team@r-m.de | Internet: www.r-m.de

Page 4 of 6

Da
te
i:
V
B
K
0
1
9
6
-
P
4
0
-
L
e
n
k
g
e
s
t
ä
n
g
e
-
1
7
0
9
2
8
.
d
o
c
x

ENGLISH: Assembly Instruction Dealer
Packster 40 STEERING LINKAGE KIT (VBK0196 / VBK0202)

St
an

d:
12

.0
4.
20

19
15

:3
5:
00

Packster 40 STEERING LINKAGE KIT (VBK0196 / VBK0202)

The steering linkage kit VBK0196 fits to Packster 40 with Suntour front fork. The steering linkage kit
VBK0202 fits to Packster 40 with front fork Spinner Grind OS.

Scope of delivery

 1x steering linkage Packster 40 incl. silicon tube (already assembled)
 1x hinge block incl. ball bearing
 2x linkage ends, already mounted
 1x steering lever and clamp for Spinner OS (only at VBK0202)
 1x steering lever and clamp for Suntour (only at VBK0196)
 1x swivel head GARSW 8
 1x bearing cover Load G2
 3x bolt M8x30 ISO 7380-1 A2 with splint hole
 2x bolt M5x20 DIN 912 A2
 2x bolt M5x25 DIN 912 A2
 3x splint 2,5x12mm EN ISO 1234
 1x nut M8 DIN 934-8 A2
 2x washer M8 DIN 125 A2
 1x O-Ring 6x3,5
 1x O-Ring 12x2,5

Dismantle existing steering linkage

1. Remove splints and bolts and at front and rear linkage end (see fig. 1 and 2). Remove
steering linkage.

fig.1: front linkage end fig.2: rear linkage end



Riese & Müller GmbH | Am alten Graben 2 | D-64367 Mühltal | Tel.: 06151-366 86-0 | Fax: 06151-366 86-20 | E-Mail: team@r-m.de | Internet: www.r-m.de

Page 5 of 6

Da
te
i:
V
B
K
0
1
9
6
-
P
4
0
-
L
e
n
k
g
e
s
t
ä
n
g
e
-
1
7
0
9
2
8
.
d
o
c
x

ENGLISH: Assembly Instruction Dealer
Packster 40 STEERING LINKAGE KIT (VBK0196 / VBK0202)

St
an

d:
12

.0
4.
20

19
15

:3
5:
00

Mount new steering linkage

1. Mount steering lever with bolts M5x20 and M5x25 at right stancion. Do not tighten bolts.

2. Push steering lever to the top and adjust it according fig. 3. Tighten bolts first and then

bolts (not visible in fig. 3). Tightening torque: 5Nm.

3. Turn swivel head with nut into front end (see fig. 4). Do not tighten nut yet. Insert bolt

through swivel head and O-Ring , apply threadlock adhesive and turn bolt into steering lever.
Tightening torque: 5Nm.

4. Install splint .

fig. 3: steering lever at front fork fig. 4: front linkage end

5. Install hinge block with bolt and threadlock adhesive, bearing cover and washer at

steerer arm (see fig. 5). Tightening torque 8Nm.

6. Stick O-Ring on bolt and install splint (see fig. 5).

7. Stick bolt with washer through hinge block. Apply threadlock adhesive and turn bolt into rear

linkage end (see fig. 6). Tightening torque 8Nm.

8. Install splint .

fig. 5: hinge block
fig. 6: rear linkage end



Riese & Müller GmbH | Am alten Graben 2 | D-64367 Mühltal | Tel.: 06151-366 86-0 | Fax: 06151-366 86-20 | E-Mail: team@r-m.de | Internet: www.r-m.de

Page 6 of 6

Da
te
i:
V
B
K
0
1
9
6
-
P
4
0
-
L
e
n
k
g
e
s
t
ä
n
g
e
-
1
7
0
9
2
8
.
d
o
c
x

ENGLISH: Assembly Instruction Dealer
Packster 40 STEERING LINKAGE KIT (VBK0196 / VBK0202)

St
an

d:
12

.0
4.
20

19
15

:3
5:
00

Adjust steering linkage
1. Turn handlebar to the right. Steering linkage may touch wooden plate with its silicon tube.
2. Turn handlebar to the left. Steering linkage may touch right stancion with its silicon tube.

If this is not the case, open bolts M5x20 and adjust steering lever . Retighten bolts M5x20.
Tightening torque: 5Nm.

3. Adjust swivel head parallel to steering lever . If necessary, loosen bolt and twist front end

towards steering linkage. Retighten bolt . Tightening torque: 5Nm.

4. Hold swivel head with wrench SW10 and tighten nut at the same time.

fig. 7: front linkage end

Adjust handlebar stem
1. Check position of handlebar: handlebar shall be rectangular to front wheel.
2. Loosen bolts to adjust handlebar stem. Retighten bolts. Tightening torque: 8Nm.


